FREG R T G A B 4P 2 1% 4

: e el e om g = o o FERLBE 4 A
R e A SRCEE £ B) SR

35 PR 112 # BAF B EyHL

E=S K] %

gpdh (112&1 7 30p T = 1TRLE REATRF R EK

BlEpER |112# 1% 31 p =09 004~ A T2HERT

FRAEHEAS o 10% BT RSSO IRR R 208 - £ 2 (e 3

B 5% B
4 1k 20% ~ EERESCEAESE R HA T ERAE ST & 30% ~ H s ik 20%

RlB& R RS AL XY AE TS 10-20 448

LR Y

T~ 5

BT R Akt

1 iEgp R pll2#27% 1p4=3 112# 127 31 p 2k

FLAEL

PGS K PRI

G AN S EE S G DR s

CESENRN SRS L DA E A (RS S R RS T S
PRBlEERZAE AR thé?“"ﬁfj

RPN Z L TP AR IR L LR A EE F R AL -
e o % K i

v H




